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Vertical Division with aHelper Grid

Name:

Solve each problem. Answers
1) 2) 3)
6[59 4 6[97 3 7[7a3 -
2.
3.
4,
5.
6.
2 5) 6) "
3|135 3|273 2|144 8.
9.
7) 8) 9)
9|732 3|112 2|334
1-9 |89]|78]67[56]44[33[22[11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 9/9 2 1l6|2r1 3 1/06/r1 99
6[59 4 6[973 7[77a73 .
514 L 719 . 16211
54 37 4|3
0 13 1
i& 4 45
1
5 91
6 12
7. 81r3
4) 45 5) 9/1 6) 712
3({135 3(2 73 2(144 8. 37r1
12 27 14
1|5 0 0 4 9. 167
15 L4
0 0
7) 8/1r3 8) 37r1 9 167
9(7 32 3(112 2(3 34
72 9 2
12 22 13
HE 21 12
3 1 14
14
0
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